Robust Probabilistic Projections: Errata Appendix
Equation (47) should read as follows:
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where we made use of the Woodburry inversion formula in (1) twice. We also

defined B; = WO, W, + I, and V, = £ W, (I, - B{')~3. The latter is an
orthogonal matrix, since we have
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The matrix R, contains the eigenvectors of (I;—B7')Y/?(I;—B; ') (I,—B;)'/?
and 'Y'Q the corresponding eigenvalues. Similarly, Ry contains the eigenvectors
of (I — By )Y?(I; — By Y (I — By 1)'/? and the same eigenvalues Y’

Identifying the first and the last equalities of (47), we find V; = \~/'1R1 and
T = 7. Doing the same development for V2T2V2T7 one gets Vy = \~/'2R2.
Hence, we find
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